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QUESTION 1

The Snap Vault secondary system makes a snapshot of its own volume where the gtrees are located.
A. True

B. False

Correct Answer: A

QUESTION 2

Which Data ONTAP option would you enable to set system wide throttling for all transfers?
A. optionsreplication.throttle.enable

B. optionstransfer.throttle.enable

C. optionstransfer.wide.enable

D. optionsreplication.wide.enable

Correct Answer: A

QUESTION 3

A volume is SnapMirrored hourly. You revert the volume using a snapshot that was created two days ago. Which
command continues the relationship?

A. SnapMirror initialize
B. SnapMirror quiesce
C. SnapMirror resume
D. SnapMirror resync

E. SnapMirror update.

Correct Answer: D

QUESTION 4
Fill in the blanks for the following statement:
The qgtree specified for, must not exist on the secondary system before you run the command.

A. sec_gtree_path. snapvault start
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B. pri_gtree_path. snapvault start
C. sec_qgtree_path. snapvault enable
D. pri_gtree_path. snapvault enable

Correct Answer: A

QUESTION 5

Which one of the following statements apply to Advanced Single Instance Storage (ASIS)?
A. Eliminates duplicates files inSnapVault for NetBackup secondary volumes

B. Eliminates duplicates blocks inSnapVaultfor NetBackup source volumes

C. Eliminates duplicates blocks inSnapVault for NetBackup secondary volumes

D. Eliminates duplicates files inSnapVaultfor NetBackup source volumes Correct answers

Correct Answer: C

QUESTION 6

Fill in the blank for the following statement using the best answer from the choices that follow. A snapshot is a frozen,
read-only image of the entire Data ONTAP file system that reflects the state of the at the time the
snapshot was created.

A. gtrees

B. directory

C. file system

D. storage appliance

Correct Answer: C

QUESTION 7

Which option of the snap restore command allows you to specify a different directory, as long as the directory already
exists?

A. snap restore -r
B. snap restore -d
C. snap restore -s

D. snap restore -c

NS0-163 PDF Dumps | NS0-163 VCE Dumps | NS0-163 Practice Test 3/6


https://www.passapply.com/ns0-163.html
https://www.passapply.com/ns0-163.html
https://www.passapply.com/ns0-163.html

VCE & PDF https://lwww.passapply.com/ns0-163.html|
2024 Latest passapply NS0-163 PDF and VCE dumps Download
PassApply.com

Correct Answer: A

QUESTION 8

Which one of the following statements is true of storage appliance SnapVault backup?
A. The volume is the basic unit ofSnapVault backup.

B. The file is the basic unit forSnapVault backup.

C. The directory is the basic unit forSnapVault backup.

D. Theqtree is the basic unit for SnapVault backup.

Correct Answer: D

QUESTION 9

Which two of the following NetApp storage appliances do not support the use of synchronous SnapMirror?
A. F825

B. FAS960

C. F87

D. F820

Correct Answer: CD

QUESTION 10

Which one of the following is a recommended secondary system for SnapVault?
A. F700 series storage appliance

B. Windows 2000 server

C. Solaris 2.6 or higher server

D. NearStore R200

Correct Answer: D

QUESTION 11
How would you initiate a cluster takeover of filer2 from filer 1?

A. filer2> cf giveback
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B. filerl> cf giveback
C. filer2> cf takeover
D. filer 1>cf takeover

Correct Answer: D

QUESTION 12

Which are three valid data protection solutions? (Choose three.)
A. SnapVault to Volume SnapMirror

B. SnapVault to Volume SnapMirror to SnapVault

C. SnapVault to Volume SnapMirror to Volume SnapMirror

D. VolumeSnapMirror to SnapVault

Correct Answer: ACD

QUESTION 13

What console message is a good indication that the storage appliance is ready to reinstate the cluster from a previous
takeover?

A. waiting for takeover
B. waiting for giveback
C. resume takeover
D. entercf giveback

Correct Answer: B

QUESTION 14

You have connected all cables and disk shelves in a Fabric Attached MetroCluster. Which one of the following
commands would you use to verify that disks are connected and have dual paths?

A. storage show disk-p
B. sysconfig -v

C. vol status -r

D. disk show

Correct Answer: A

NS0-163 PDF Dumps | NS0-163 VCE Dumps | NS0-163 Practice Test 5/6


https://www.passapply.com/ns0-163.html
https://www.passapply.com/ns0-163.html
https://www.passapply.com/ns0-163.html

VCE & PDF https://www.passapply.com/ns0-163.html
2024 Latest passapply NS0-163 PDF and VCE dumps Download
PassApply.com

QUESTION 15

Which three are true when creating a SyncMirror volume? (Choose 3)

A. The number of disks added must be an even number and equally divided between the twoplexes.

B. The disks selected forPlex 0 and Plex 1 must come from the same disk pools.

C. The number of disks selected for oneplex must equal the number of disks selected from the other plex.

D. The disks are selected first on the basis of equivalent bytes per sector (bps) size, then on the basis of the size of the
disk. If there is no equivalent-sized disk, Data ONTAP takes a larger capacity disk and downsizes it.

Correct Answer: ACD
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